oth Class
Mathematics
Model Question Paper

Time: 3Hrs M.M: 80
General Instruction :

agrwbdE

No

This question paper have 5 section A-E

Section A has 16 MCQ carrying 1 mark each.

Section B has 5 questions carrying 2 marks each.

Section C has 7 questions carrying 3 marks each.

Section D has two case based integrated units of assessment (4marks each) with sub
parts of various of 1,1 and 2 marks each respectively.

Section E has five question carrying 5 marks each

All question are compulsory however an internal choicein 2 questions of 5 marks, 3
guestions of 3 marks and 2 questions of 2 marks has been provided.

Draw neat figures wherever required. Take n = % whenever required if not stated.

Section-A (1 x 16 = 16)

If (4,19) isasolution of the equation y = ax + 3, then a=
afg (4,19), THIBRUT y = ax + 3BT & &, d a=
€) 4 (b) 6 (©) 3 (d 5
mis
1 %
(a) arational number T® TRTT Hva (b) an integer Y& YUrid
(c) anirrational number & 3R =T (d) awhole number T qui ww=T
In a histogram the area of each rectangleis proportiona to:
T AT o H IS ST BT eFAhdl FHATURI o
(a) The class size of the corresponding class interval

A T AR & a AY D
(b) Cumulative frequency of the corresponding classinterval

T v 3R B FEdl qRARAT B
(c) The class mark of the corresponding class interval

1A T AR b T E D
(d) Frequency of the corresponding class interval

AT I RIS B qRARAT B
The Sum of all the probabilitiesis
T ot &1 AT @
@ O (b)) 2 © 1 @ -1
The point (0,-8) lies.
fag (0,-8) Rera T |
(@) on the x-axis (x—31&T UR) (b) on the y-axis (y-31&T WR)
(c) inthe 1l quadrant (11 =rgeifer #) (d) inthe IV quadrant (1V- argerer )
In the given figure ABCD is a Rhombus. Find the values of x and y
& g ARG ABCD U FHagYS & | X AR y & A1 o R | i

(a) x=35° and y= 35" (b)  x=45°and y= 45° & |
(c) x=37° and y= 37° (d)  x=40°and y= 40° ALY iig’)

L
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10.

11.

12.

13.

14.

If APQR = AEFD, then/ E=

Ife APQR= AEFD ® @I ZE=

(@ ZLP (b) £Q (© 4R (d)  Noneof theseSTH | ®Is Azl
Which of the following is a polynomial

frfeRed § & o9 9gus

(i) X? - 5x - 4/x + 3

k| 1
(i) xz-x+xz+1

(iii) Vx+ %
(iv) V2 x*- 3V3 x +V6
(a) option (iv) (b) Option (ii) (c) option (i) (d) option (iii)

In the given figure, if AB Il DE. £BAC=35"and £ CDE =53, find £DCE
& TS i § afe ABIIDE. £BAC=35" 3iR £ CDE=53° & dI £DCE = &%

E
(@) 53° (b) 35° (c) 92° (d) 90°
Inthe figure, if £ABC = 45° then ZAOC =

ampfa # afe ZABC=45° g d1 ZAOC=

(@ 75° (b) 45° (c) 90° (d) 60°

Which of the following pair is a solution of the equation 3x - 2y =7

FR=TfeTRaT # & I AT T FHIBIOT 3X - 2y = 7 T & ©

@ (-2.1) (b) (1.-2) (© (51) (d) (1.5

When P(x) = x* + 2x3 - 3x? + x - 1isdivided by (x,-2), the number is:

o9 P(X) = x* + 2x3 - 3x2 + X - 1, (X,-2) gRT Aot 8iar & o 9%t UT BT &

(@ -15 (b) 21 (-1 (d) o

The surface area of a sphere of diameter 14cm is

R 14cm dTel 7ol BT I &3l &

(a) 256cm? (b) 416cm? (c) 616cm? (d) 308cm?

Assertion (A) : The perpendicular distance of the point A(3,4) from the y-axisis 4

IAHAA(A) : g @1 y —31eT | anfiae R 4 75D 2

Reason R: The perpendicular distance of a point from y-axisis called its x- coordinate,
mark the correct choice

SR (R): ol fIg o y —31&1 9 @vaad O SHaT x —1deid FHgerdar & | el
famea fafed o |

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of (A)
ANMABUA(A) - Td HRUT (R) I & AR SR (R) AMABAA(A) HT F&! TICIHIT B
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of (A)
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15.

16.

17.

18.

19.

20.

(c) Assertion (A) istrue but reason (R) isfalse.
IAHIA(A) I & IR PRI (R) [ B
(d) Assertion (A) isfalse but reason (R) istrue
JAMHAA(A) I & W< BRI (R) T ©
Assertion (A) : The area of an equilateral triangle having each side 4cm is 4+/3cm?

JIAHAA(A) : ST 4 H0H0 aTel FHATg ST &7 &5hal 4/3cm? 2 |

Reason (R) : Areaof an equilateral triangle = g x &

PR (R) :W@%{ﬂmmaﬁaﬂv—c«rzgxaz

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of (A)
AMHAA(A) : Td BRI (R) A & 3R BRI (R) JIABAF(A) BT Hel TEIHIT &

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of (A)
JAHAA(A) : TG BRI (R) TFI T & IR DR (R) AMHAA(A) BT Hel WG el ©
(c) Assertion (A) istrue but reason (R) isfalse.

IAFHAA(A) I & IR BRI (R) A 2

(d) Assertion (A) isfalse but reason (R) istrue

IAHAA(A) 3RTF & IR BRI (R) FF &

ABCD isarhombus such that £ZACB=40°, then ZADB is

ABCD & 99 agqsl & S ZACB=40°, €, @1 ZADB®

(a) 40° (b) 45° (c) 50° (d) 60°

Section-B (2x 5= 10)
Simplify the following expression

N O\

ffeIRad &S &l &Y
V5 + V2)°
or
Rationalise the denominator

X BT TRHAITHRIT BT
1
Vi-2
Check whether 7+3x isafactor of 3x° + 7x
ST BHINTT 5 7+3%, 3 + 7x BT U@ [ORES ® AT T2l

Show how /5 can be represented on the number line.

femgy & d=m Y@ w5 @1 {59 goR sl fear 51 a6 2
Find the area of atriangle two sides of which are 8cm and 11cm and the perimeter is
32cm.
U ST @1 &Fhd S difoiy [T &1 Yoy, 8cm 3R 1lcm € 3R fSaar
aR¥TT 32cm 2 |

or
The height and slant height of a cone are 21cm and 28cm respectively. Find the
volume of the cone.

fell viq o A &R fdd HaMs HHA: 21cm 3R 28cm T | SHST AFTH 1
BIFTY |
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21.

22.

23.

24,

25.

26.

27.

Plot the point (x,y) given in the following table on the plane, choosing suitable units
of distance on the axis.

el W T BT IUGH Uhdh ol i AR # Ay My fdgall &1 aa W ameiaa
IS |

X -2 -1 0 1 3

y 8 7 -15 3 -1

Section-C (3x7=21)

Infig. if AB Il CD, EF LCD and £GED = 126°, find ZAGE, £ GEF and £FGE.
amapfr # afe AB Il CD, EF LCD 3R ZGED = 126° ® @1 ZAGE, £GEF 3iR
ZFGE I1d I |

AG F B
<t _] >
c E D
Factorize the polynomial
OGS DT |

64a’ - b’ -144aCb + 108ab’
or
Factorize the polynomial
g8Ua P YUFRISY HIfS |
27y* + 1257°
Construct atriangle ABC in which BC = 8cm, £ B=45° and AB-AC= 3.5cm
U 2r[st ABC @1 waT difoig {5 BC = 8cm, £B=45"3iR AB-AC=3.5cm ¢ |

Express the following in the form of f , Where p and q are integers and g+ 0.
ﬁw%r@ﬁﬁgzﬁwﬁWW,Gﬁpeﬁ?qW%amqioé

or

Find three different irrational numbers between the rational numbers% and 12
WWﬁ%@?%@EﬁHEﬁHWWWW%W|
Factories y* - 5y + 6 by using the factor theorem.

TUFEE U @ AERIAT ¥ yP -5y + 6 BT [ORIST BIRT |

A dieisthrow 1000 times with the frequencies for the outcomes 1,2,3,4,5 and 6 as
given in the following table.

U U Bl 1000 IR Beb TR U RN 1,2,3.4,5 3R 6 &I IRIRAG IR F

U
Outcome 1 2 3 4 5 6
gRomH
Frequency 179 150 157 149 175 190
AR

Find the frequencies of getting each outcome.
YRIF TR & U B @ JIREaT S SR |
Downloaded from cclchapter com



28.

29.

30.

Infig. £B<ZA and £C<«D, show that AD <BC
MBfT #§ £B<ZA SR £C<«D, | <isy f& AD<BC ¥ |
3

i>

or C
Prove that the sum of any two sides of atriangle is greater than the third side.

g AR Brst @ &8 |1 qormell &1 IRT TR 4T 9 97 8T ¢ |

Section-D (2x 4 = 8)
Read the text carefully and answer the question:
ThereisaDiwali celebration in the DAV school. Girls are asked to prepare Rangoli in
atriangular shape. They made a Rangoli in the shape of triangle ABC Dimesions of
AABC are 26cm, 28cm, 25cm.
T 000 UISITAT W fedrell &1 S | iefhdl B RSTeR TER @i
el 1 & foy @81 Sl © | 9 3RSl ABC @ &R # iell g9l & | AABC

@ |19 26cm, 28cm, 25cm ¢ |
A

25cm 26cm

B 28cm P C
() Infig R and Q are mid points of AB and AC respectively. Find the length of RQ.

BT # R 3R Q, AT ot AB iR AC & #en =g ¥ |
(i) Find the length of Garland which isto be placed along the side of AQPR.
AT @1 @idlg ST BIfoTg o AQPR @1 YSiTell & ATer () R ST 2 |
(i) R,P and Q are the mid points of AB, BC and AC respectively then find the
relation between area of APQR and area of AABC.
R, P3iR Q s¥er: Yoiil AB, BC3IR AC @ #eg fdg & APQR 3R AABC &
SFHAl H HIRT ST BIfoTT |
Once four friends Rahul, Arun, Ajay and Vijay went for apicnic at a hill station. 'Due
to peak season, they did not get a proper hotel in the city. The weather was fine so
they decided to make a conical tent at a park. They were carrying 200 sg. m cloth
with them. They made the conical tent with a height of 8m and a diameter of 12cm.
The remaining cloth was used for the floor.
U dR IR TR g, A0, 3o R A5 gl salrd &1 IR & forg g | dies
JoE B9 D PRU I TR H PIs 3T sicd A8l B grar| 898 Sl o
Sy SBF U& U § AaHIHR a9 99 & i foram| o s «|rer 200 ot
AeX HULT o MY | IBH 8WI0 JaATS AR 120 S Il Yh AFTHR e
AT | Y 97 HUST B W TINT HR forar T |

8m
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31

32.

33.

35.

(1) What is the slant height of the tent? 1

g @ Rrfe S @ ¥
(if) What is the curved surface area of the text.

Y BT Ib T &FABA fha=r or? 1
(il1) What was the volume of the tent. 2

T BT A e or?

Section-E (5x5=25)
The runs scored by two teams A and B on the first 60 balls in a cricked match are
given below.

U fohpe 39 H a1 S A IR B gRT 60 &l § 9910 7V 39 a1 e 3 &

Number of Balls Team A Team B

1-6

7-12

13-18

19-24

25-30

31-36

37-42

43-48

o hwolaBN oo

49-54

Nio|Blo|o Mook N

55-60 10

Represent the data of both the teams on the same graph by frequency polygon.
IRARTT ISl BT FERIAT H U &1 el W I SHIl & 3N [Fafud BTy |
The diameter of a sphere is decreased by 25%. By what percent does its curved
surface area decreases?
T el & A H 25% DI A B S & | SHDT db YOI &bl fba ufcrerd
®H B AT &

or
A right triangle ABC with sides 5cm, 12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so obtained.
qofleli 5em, 12cm 3R 13cm arel Uah A1dIvT s ABC &1 4ol 12cm & uRd
AT ST © | 9 UPHR UT S &l A S dIfory |
If the non-parallel sides of atrapezium are equal, prove that it iscyclic.
IS TP TG BI SRIAIIR Yol RIER &I, A1 (g DINIT &1 98 I ¢ |

or
Prove that the quadrilateral formed (if possible) by the internal angle bisectors of any
quadrilateral is cyclic.
g BINTY 1P B TS & ofc: BT & FHlg AToThl A 991 agyel (Al |wa
1) DI BT B |
Factorise the following polynomial.
fA=feiad ggue &1 oS HIfTY |
X3 - 3x%- 9x -5
In a parallelogram ABCD, E and F are the mid points of sides AB and CD
respectively. Show that the line segments AF and EC trisect the diagonal BD.
T HAGR agyel ABCD # E 3R F #e: yoieli AB 3R CD & #ey fawg €|
T8V fh @1 Ws AF 3R EC fawol BD &l GHEMINTT B-d & |
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